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QA1

Ans

In 1889,

their families.

X 1. Rakhmabai Save
X 2. Apandibai Joshi
+ 3. Pandita Ramabai
X 4. Ramabai Ranade

established the Mukti Mission, a refuge for young widows who had been deserted and abused by

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352328
1151359309
1151359312
1151359310
1151359311
Not Answered

Ans

X1 -1
X2 -2
X3 2
41

Q.2 1 the roots of the equation 2x2 — 3x+a = 0 are in the ratio 1 ¢ 2, then find the value of a.

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135447
1151351786
1151351785
1151351788
1151351787
Answered
4
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Q.3 From a point Q, the length of the tangent to a circle is 21cm and the distance of Q from the centre ‘0" of the circle

is 29cm. Find the radius of the circle.

Ans 1 20cm
X 2. 8cm
2 3. 30cm
X 4. 50cm
Question ID : 115135467
Option 1 ID : 1151351868
Option 2 ID : 1151351867
Option 3 ID : 1151351866
Option 4 ID : 1151351865
Status : Answered
Chosen Option : 1
Q4 TIf a product of 0.225, 0.36 and a number N is 243, then what is the value of number N?
Ans X1, 2400
X< 2. 3300
+ 3. 3000
X 4. 3600
Question ID : 115135468
Option 11D : 1151351870
Option 2 1D : 1151351871
Option 3 ID : 1151351869
Option 4 ID : 1151351872
Status : Answered
Chosen Option : 3
Q5 YWhich of the following is NOT one of the objectives of Liberalisation?
Ans % 1. To develop a global market of a country
X 2. To promote foreign trade and regulate imports and exports
X 3. To boost competition between domestic businesses
« 4. To mitigate effects of the technology and foreign capital
Question ID : 1151352315
Option 1 1D : 1151359260
Option 2 ID : 1151359258
Option 3 ID : 1151359257
Option 4 ID : 1151359259
Status : Answered
Chosen Option : 3
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Q.6 Rakesh travels in a car at 50 knv/h for 2 hours, on a bike at 35 km/h for 2 hours, and in a train at 100 km'h for 4 hours.
‘What is the average speed at which Rakesh travelled?

Ans X 1. 75 kmvh
X2 72.50 kmvh
3 7125 km/h
X 4. 74 knvh

Question ID : 115135462
Option 1 ID : 1151351846
Option 2 ID : 1151351847
Option 3 ID : 1151351845
Option 4 ID : 1151351848
Status : Answered
Chosen Option : 3

Q.7 IANA oversees the allocation of IP address to organisations and individuals. What is the full form of IANA?
Ans

X 1. Internet Associated Number Authority

X 2. Internet Assigned Number Automation

+ 3. Internet Assigned Numbers Authority

X 4. Internet Assigned Nomenclature Authority

Question ID : 1151352335
Option 1 ID : 1151359337
Option 2 ID : 1151359340
Option 3 ID : 1151359339
Option 4 ID : 1151359338
Status : Answered
Chosen Option : 3

Q8 Qnges is a tribal group living in which of the following union territories?
Ans X 1. Puducherry

X 2. Delhi

+ 3. Andaman and Nicobar

X 4. Lakshadweep

Question ID : 1151352297
Option 1 ID : 1151359186
Option 2 ID : 1151359188
Option 3 ID : 1151359187
Option 4 ID : 1151359185
Status : Answered
Chosen Option : 3
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Ans

Q.9 The Government of India Act, 1919 was passed by the then viceroy of India, on the recommendation of

X 1. Lord Elgin

+ 2. Edwin Montague

X 3. Charles I
X 4. Lord Linlithgow

Chosen Option :

Question ID : 1151352327
Option 1 ID : 1151359308
Option 2 ID : 1151359306
Option 3 ID : 1151359307
Option 4 ID : 1151359305
Status : Answered
Chosen Option : 2
Q.10 With reference to the distribution of Asokan inscriptions, which among the following sites is in the modern state of
Gujarat?
Ans 1. Girnar
X 2. Kalsi
X 3. Shishupalgarh
X 4. Sannati
Question ID : 1151352324
Option 1 ID : 1151359295
Option 2 ID : 1151359296
Option 3 ID : 1151359293
Option 4 ID : 1151359294
Status : Not Answered

Ans

PJEB : SQHI :: MCQX : PITE:: LRCT : ?

X 1. QWHY
X2 OWFY
X 3. QYHA
¥ 4 OYFA

Q.11 Select the option that is related to the fifth letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster and the fourth letter-cluster is related to the third letter-cluster.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352004
1151358014
1151358013
1151358015
1151358016
Answered
4
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Q.12 According to the Global Wind Energy Council. what is India’s worldwide rank in terms of installed wind energy
capacity as of the year 2020?

Ans X 1. Third
+ 2. Fourth
& 3. First
X 4. Second
Question ID : 1151352301
Option 1 ID : 1151359203
Option 2 ID : 1151359204
Option 3 ID : 1151359201
Option 4 ID : 1151359202
Status : Not Answered
Chosen Option : --
Q.13 With reference to deficiency diseases, rickets is caused by the deficiency of
Ans X' 1. Vitamin B-12
X 2. Vitamin C
+ 3. Vitamin D
X 4 Vitamin E
Question ID : 1151352320
Option 1 ID : 1151359279
Option 2 ID : 1151359277
Option 3 ID : 1151359280
Option 4 ID : 1151359278
Status : Answered
Chosen Option : 3
Q.14 In which month did the Essential Defence Services Bill, 2021 receive the assent of the President?
Ans % 1. January 2022
« 2. August 2021
X 3. September 2021
X 4. December 2021
Question ID : 1151352288
Option 1 ID : 1151359152
Option 2 ID : 1151359149
Option 3 ID : 1151359150
Option 4 ID : 1151359151
Status : Not Answered
Chosen Option : --
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Q.15 The ratio of savings and expenditure of Kiran is 7 : 13 and his monthly income is Z1,80,000. The savings are divided in
the ratio of 4 : 3 between Mutual funds and Equity. What is the amount of money saved in the form of Mutual Funds?

Ans 1. 336,000
X 2. 245,000
X 3. 239,000
X 4. 263,000

Question ID : 115135456
Option 1 ID : 1151351823
Option 2 ID : 1151351824
Option 3 ID : 1151351821
Option 4 ID : 1151351822
Status : Answered
Chosen Option : 1

Q.16 Select the option that is related to the fifth letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster and the fourth letter-cluster is related to the third letter-cluster.

WIJOF : ZORK :: CPNY : FUQD :: XRID : ?
Ans 1. AWOI

X2 CWQI

X 3. AUOG

X 4. CUQG

Question ID : 1151352002
Option 1 ID : 1151358008
Option 2 ID : 1151358007
Option 3 ID : 1151358006
Option 4 ID : 1151358005
Status : Answered
Chosen Option : 1

Q.17 People of Punjab and Haryana celebrate Baisakhi festival or Vaisakhi by thanking God for good
Ans 54 life

X 2. health

X 3. climate

« 4. harvest

Question ID : 1151352331
Option 1 ID : 1151359323
Option 2 ID : 1151359322
Option 3 ID : 1151359321
Option 4 ID : 1151359324
Status : Answered
Chosen Option : 4
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Q.18  When 4230, 5986 and 9059 are divided by the greatest number m, the remainder in each case is n. What is the

value of (m —n)?
Ans 1. 160
X 2159

<3 153
< 4.163

Question ID : 115135459

Option 1 1D : 1151351836
Option 2 ID : 1151351834
Option 3 ID : 1151351833
Option 4 ID : 1151351835

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.19 In September 2021, Tamil Nadu government declared which day as 'Mahakavi' Day to commemorate the death
anniversary of India's firebrand poet and freedom fighter Subramania Bharathi?

Ans .
X 1. 15™ September
v |1t September
X 3. 8™ September
X 4. 5% geptember
Question ID : 1151352287
Option 11D : 1151359148
Option 2 ID : 1151359147
Option 3 ID : 1151359146
Option 4 ID : 1151359145
Status : Not Answered
Chosen Option : --
Q.20 17 13 34 .
Ifa == ,b= = and ¢ = —, then what is the value of (ab) <~ c =7
99 47 33
Ans 17
X1 —
264
13
72—
282
. 19
K 3. it
289
. 21
W 4. ey
354

Question ID : 115135454
Option 11D : 1151351814
Option 2 ID : 1151351813
Option 3 ID : 1151351815
Option 4 ID : 1151351816
Status : Answered
Chosen Option : 2
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Q.21 six colleagues work together in an office. Ted is younger than Ann. Elle is older than Ricky. Stuart is older than Ted.
Ted is of the same age as Elle. Ricky is not younger than Veronica. Stuart is younger than Ann. Which of the following
options is NOT correct according to the above information?

Ans X' 1. Elle is not older than Ann.
+ 2. Ricky is older than Ted.

X 3. Veronica is younger than Ted.

X 4. Stuart is older than Elle.

Question ID : 1151351996
Option 1 ID : 1151357983
Option 2 ID : 1151357982
Option 3 ID : 1151357984
Option 4 ID : 1151357981
Status : Answered
Chosen Option : 2

Q.22 Team India scored runs in the first 30 overs in an ODI match at an average of 5.6 runs per over. What is the required
uns per over in the remaining 20 overs at which the team has to score to meet a total target of 320?

Ans % 1. 8.9 runs per over

X 2. 6.4 runs per over
« 3. 7.6 runs per over

X 4. 4.6 runs per over

Question ID : 115135457
Option 1 ID : 1151351828
Option 2 ID : 1151351825
Option 3 ID : 1151351827
Option 4 ID : 1151351826
Status : Answered
Chosen Option : 3

Q.23 Select the number from among the given options that can replace the question mark (?) and continue the given series.
13,115, 119, 125,133,2

Ans 1. 141
X2 147
X3 152
&4 143

Question ID : 1151351997
Option 1 ID : 1151357985
Option 2 ID : 1151357986
Option 3 ID : 1151357987
Option 4 ID : 1151357988
Status : Answered
Chosen Option : 4




www.prepp.in

pPrepp

Your Personal Exams Guide

Chosen Option

Q.24 5 3, g .
= —y==—.What is the value of (10v — 1)?
7 63
Ans 13
X1 ==
126
2
2 =
63
. a
W 3.t
63
. 5
X4 —
42
Question ID : 115135465
Option 1 1D : 1151351860
Option 2 ID : 1151351858
Option 3 ID : 1151351857
Option 4 ID : 1151351859
Status : Answered
Chosen Option : 2
Q25 wWhich is the largest inland saltwater lake in India?
Ans  X'1. Devtal Lake
& 2. Pushkar Lake
X 3. Lonar Lake
+ 4. Sambhar Lake
Question ID : 1151352318
Option 1 ID : 1151359272
Option 2 ID : 1151359270
Option 3 ID : 1151359269
Option 4 ID : 1151359271
Status : Answered
Chosen Option : 4
Q26 1f 27 5% of a number is 11, then the number is:
Ans « 1. 40
<2 36
X 3 48
X4 44
Question ID : 115135472
Option 1 ID : 1151351888
Option 2 ID : 1151351886
Option 3 ID : 1151351885
Option 4 ID : 1151351887
Status : Answered

1
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Q.27 Inassociation with whom did the Science and Engineering Research Board (SERB) launch the ‘Fund for Industrial
Research Engagement (FIRE)’ in June 2021?

Ans X' 1. Microsoft
X 2. Cisco
+ 3. Intel India
X 4. Infosys

Status

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

1151352290
1151359159
1151359160
1151359157
1151359158

: Not Answered
Chosen Option :

Q.28 Ina certain coding language, TOTAL is written as 68 and PEN is written as 35. In the same language, what will OIL be
written as?

Ans X 1. 66
X2 46
« 3 30
X4 56
Question ID : 1151352016
Option 11D : 1151358063
Option 2 ID : 1151358064
Option 3 ID : 1151358061
Option 4 ID : 1151358062
Status : Answered
Chosen Option : 3
Q.29 A question is given, followed by two statements labelled I and II. Identify which of the statements is/are sufficient to
answer the question.
Question: Who is older Rahul or Vishal?
Statements:
i Rahul was born in the year 1987 and is 5 years younger than Vishal’s sister.
1. Vishal is twice as old as his sister.
Ans 1. Statement I alone is sufficient to answer the Question
X 2.
Both the statements together is not sufficient to answer the Question
X 3. Statement II alone is sufficient to answer the Question
o 4.
Both the statements together is needed to answer the Question
Question ID : 1151352007
Option 11D : 1151358025
Option 2 ID : 1151358028
Option 3 ID : 1151358026
Option 4 ID : 1151358027
Status : Answered
Chosen Option : 4
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Q.30 The Indian Constitution was the lengthiest Constitution at the time of its adoption which originally had
Articles.

Chosen Option :

Ans 1. 395
X2 448
X3 444
X 4 348
Question ID : 1151352308
Option 1 ID : 1151359231
Option 2 ID : 1151359230
Option 3 ID : 1151359229
Option 4 ID : 1151359232
Status : Answered
Chosen Option : 1
Q31 What is the rank of India in the World Happiness Report of 20217
Ans X1, 191
X2 87
X3 28
4 139
Question ID : 1151352296
Option 11D : 1151359183
Option 2 ID : 1151359184
Option 3 ID : 1151359181
Option 4 ID : 1151359182
Status : Answered
Chosen Option : 4
@32 The audible range of sound for human beings extends from about:
Ans 1. 20 Hz to 20,000 Hz
< 2. 10 Hz to 10,000 Hz
# 3. 40 Hz to 40,000 Hz
~< 4. 30 Hz to 30,000 Hz
Question ID : 1151352323
Option 1 1D : 1151359290
Option 2 ID : 1151359289
Option 3 ID : 1151359292
Option 4 ID : 1151359291
Status : Answered

1
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Q.33 In ammenia, nitrogen and hydrogen are present in the ratio by mass.
Ans  X'1.1:3

x211:6

o3 14:3

X40:6

Question ID : 1151352322
Option 1 ID : 1151359286
Option 2 ID : 1151359288
Option 3 ID : 1151359287
Option 4 ID : 1151359285
Status : Answered
Chosen Option : 1

Q.34 A student walks from his house at 2.5 km/hour and reaches his school 6 minutes after school time. Next day he
increases his speed by 1 km/hour and reaches his school 6 minutes before school time. How far is the school from
his house?

Ans X1 2.5 km
2 1.75km
X3 2.25km
X4 2km

Question ID : 115135452
Option 1 1D : 1151351805
Option 2 ID : 1151351808
Option 3 ID : 1151351806
Option 4 ID : 1151351807
Status : Answered
Chosen Option : 2

Q.35 The total surface area of a solid right circular cylinder of height 9 cm is 704 em?. Its volume is 11k em®. Find the value
2

of k. (Use = j)

7

Ans X 1. 122
2. 126
X3 125
X4 121

Question ID : 115135480
Option 1 ID : 1151351919
Option 2 ID : 1151351918
Option 3 ID : 1151351917
Option 4 ID : 1151351920
Status : Answered
Chosen Option : 2
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Q.36 Which of the following options will be the most approximate value that will come in place of question mark (?) in the
following equation?

259.99+24.99 x 35.01 —29.98 x9.96 =7

Ans X 1. 93
o 2. 64
X3 75
X 4. 80
Question ID : 1151352017
Option 1 ID : 1151358068
Option 2 ID : 1151358065
Option 3 ID : 1151358066
Option 4 ID : 1151358067
Status : Answered
Chosen Option : 2
Q37 1£515 March 2021 was a Sunday, then what will be the day on 12tk January 20227
Ans 71 Wednesday
X 2. Monday
X 3. Sunday
X 4. Friday
Question ID : 1151352009
Option 1 ID : 1151358035
Option 2 ID : 1151358033
Option 3 ID : 1151358034
Option 4 ID : 1151358036
Status : Answered
Chosen Option : 1
Q.38 According to the Indian Constitution, every Panchayat, unless sooner dissolved under any law for the time being in
force, shall continue for ~~ years from the date appointed for its first meeting and no longer.
Ans X1 4
X2 6
X3 7
¥4 5
Question ID : 1151352311
Option 1 ID : 1151359243
Option 2 ID : 1151359242
Option 3 ID : 1151359244
Option 4 ID : 1151359241
Status : Answered
Chosen Option : 1
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actor, singer, doctor and professor, not necessarily in the same order.

Who is the doctor by profession?

Ans X' 1. Alisha
X 2. Casey
< 3. Andrew

« 4 Pamela

Q.39 There are five friends. Leo, Casey, Pamela, Alisha and Andrew. Each one likes a different fruit: Apple, Mango,
Strawberry, Pear and Apricot, not necessarily in the same order. Also, each of them have different professions: dancer,

The one who likes Pear is a professor. The one who likes Mango is a singer or a doctor. Leo likes Apple but is neither a
dancer nor a doctor. Casey is a singer. Andrew likes Pear. The one who is a singer likes Apricot. Alisha likes Strawberry.

Question ID : 1151352000
Option 11D : 1151358000
Option 2 ID : 1151357997
Option 3 ID : 1151357998
Option 4 ID : 1151357999
Status : Answered
Chosen Option : 1
Q.40 Six horses numbered as A, B, C, D, E and F are participating in a horse race. On the race track horse C is standing
between horse A and horse E as its immediate neighbours. Horse D is not standing at any of the extreme ends. Horse B
is standing to the immediate right of horse E. Horse F is not standing at the extreme right end. Horse D is standing at
fourth to the left of horse B.
If all the horses are facing towards north, which horse is standing at the extreme left end?
Ans x4 A
X2 B
3 F
X4 C
Question ID : 1151352003
Option 11D : 1151358010
Option 2 ID : 1151358011
Option 3 ID : 1151358009
Option 4 ID : 1151358012
Status : Answered
Chosen Option : 2
Q41 Rechungma, Gha To Kito and Chi Rmu are the dance forms of
Ans 1. Sikkim
X 2. Manipur
X 3. Andaman and Nicobar Islands
X 4 Goa
Question ID : 1151352330
Option 11D : 1151359318
Option 2 ID : 1151359320
Option 3 ID : 1151359319
Option 4 ID : 1151359317
Status : Answered
Chosen Option : 2
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Q42 WWhich of the following is the correct definition of liberalisation?
Ans X 1.

It is the process by which an economy is transformed from an agricultural one to the manufacturing of goods.

x 2.

It is a policy that focuses on the boosting of government laws and restrictions in order to encourage greater participation
by public entities.

X 3. It is a situation where there is a single seller in the market.
4

It is a process of removing controls systems in order to encourage economic development.

Question ID : 1151352314
Option 1 ID : 1151359254
Option 2 ID : 1151359253
Option 3 ID : 1151359255
Option 4 ID : 1151359256
Status : Answered
Chosen Option : 2
Q.43 Maski, an archacological site in district, of Karnataka came info prominence with the discovery of a minor
rock edict of Emperor Ashoka by C. Beadon in 1915.
Ans X 1. Udupi
X 2. Yadgir
X 3. Hassan
+ 4 Raichur
Question ID : 1151352329
Option 1 ID : 1151359315
Option 2 ID : 1151359316
Option 3 ID : 1151359314
Option 4 ID : 1151359313
Status : Answered
Chosen Option : 3
Q.44 Tpe length of each side of a regular hexagon is 24/3 cm. What is the area of the given hexagon?
Ans
X118 em?
X2 54 cm?
¥ 3 183 em?
X 4. 244/3 cm?
Question ID : 115135474
Option 1 ID : 1151351893
Option 2 ID : 1151351895
Option 3 ID : 1151351894
Option 4 ID : 1151351896
Status : Answered
Chosen Option : 3
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16, 29, 46, 65, 88, ?

Q.45 Select the number from among the given options that can replace the question mark (?) in the following series.

Ans 1. 117
K2 123
<3 119
X4 101
Question ID : 1151352005
Option 1 ID : 1151358018
Option 2 ID : 1151358020
Option 3 ID : 1151358019
Option 4 ID : 1151358017
Status : Answered
Chosen Option : 1
Q46 The Badshahi Masjid in Lahore was built by
Ans X 1. Sher Shah Suri
« 2. Aurangzeb
X 3. Humayun
X 4 Iltutmish
Question ID : 1151352326
Option 1 1D : 1151359303
Option 2 ID : 1151359301
Option 3 ID : 1151359304
Option 4 ID : 1151359302
Status : Answered
Chosen Option : 4
Q47 1fq + b =15, and a® + b? = 113, then what is the value of a® + b3?
Ans X' 1. 865
X2 845
« 3. B35
X4 875
Question ID : 115135455
Option 1 ID : 1151351818
Option 2 ID : 1151351820
Option 3 ID : 1151351819
Option 4 ID : 1151351817
Status : Answered
Chosen Option : 3
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Q.48 The Total Revenue Curve of a firm shows the relationship between the made by the firm and the output level
of the firm.

Ans X 1. quarterly revenue

& 2. investment
« 3. total revenue

X 4. semi-annual revenue

Question ID

Option 2 ID

Option 11D :

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151352312
1151359245
: 1151359248
1151359246
1151359247
Not Answered

Q.49 Two statements are given, labelled I and II. These statements may be either independent causes or may be effects of
independent causes or a common cause. One of these statements may be the effect of the other statement. Read both the
statements and decide which of the following options correctly depicts the relationship between these two statements.

Statements:
1. Students called off their protest they held against insufficient employment opportunities.

1I. Students went on protest anticipating inability of government to provide employment.

Ans 1.
Both the statements, I and II, are effects of independent causes.

X 2. Statement I is the cause and statement II is its effect.

X 3. Both the statements, I and II, are independent causes.

X 4. Statement II is the cause and statement I is its effect.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351999
1151357996
1151357993
1151357995
1151357994
Answered
4

Q.50 Letx be the least number lying between 8000 and 83500, which when divided by 12,14,16,35 and 84, the remainders
are 4,6,8,27 and 76, respectively. The tens digit in x is:

Ans 1.0
X2 7
X3 8
X4 5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135448
1151351792
1151351790
1151351791
1151351789
Answered

3
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Q.51 Read the given statement and conclusions carefully. Decide which of the given conclusions is/are true based on the

given statement.
Statement:
Z>H>Y>R<D>F>X
Conclusions:
LZ=X
ILE>H
Ans 1. Neither conclusion I nor II is true
X 2. Only conclusion II is true
X 3. Only conclusion I is true
/< 4. Both conclusions I and II are true
Question ID : 1151352026
Option 11D : 1151358104
Option 2 ID : 1151358101
Option 3 ID : 1151358102
Option 4 ID : 1151358103
Status : Answered
Chosen Option : 1
Q.52 [nthe series 11, 19, 27, 35, 43, ....... which of the following will NOT be a number of the series?
Ans 1. 434
X2 107
X3 307
x4 195

Question ID : 1151352027
Option 11D : 1151358108
Option 2 ID : 1151358105
Option 3 ID : 1151358107
Option 4 ID : 1151358106

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.53 Pand Q like to drink coffee and tea. R and S like coffee and energy drink. Q and S like tea and cold drink. R, Sand T
like energy drink and ice-tea.

‘Who among the following likes only three drinks, viz., coffee, tea, and cold drink?
Ans X1 R
X2T
3 Q
X4 P

Question ID : 1151352028
Option 11D : 1151358111
Option 2 ID : 1151358112
Option 3 ID : 1151358110
Option 4 ID : 1151358109
Status : Answered
Chosen Option : 3
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Q.54 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

a) Some scarfs are shawls.
b) Some shawls are muftlers.
Conclusions:

I. Some scarfs are mufflers.

II. Some mufflers are shawls.

Ans X 1. Neither conclusion I nor II follows.

+ 2. Only conclusion II follows.
/< 3. Both conclusions I and II follow.

X 4. Only conclusion I follows.

Question ID : 1151352001
Option 1 ID : 1151358004
Option 2 ID : 1151358002
Option 3 ID : 1151358003
Option 4 ID : 1151358001
Status : Answered
Chosen Option : 2

Q.55 Which Five Year Plan of India was chalked out for the period spanning 1974 to 1979 with the objective of increasing
the employment level, reducing poverty, and attaining self-reliance?

Ans X 1. First Five-Year Plan
# 2. Third Five-Year Plan
+ 3. Fifth Five-Year Plan
X 4. Second Five-Year Plan

Question ID : 1151352313
Option 1 ID : 1151359249
Option 2 ID : 1151359251
Option 3 ID : 1151359252
Option 4 ID : 1151359250
Status : Answered
Chosen Option : 3

Q.56 wWhich of the following numbers is divisible completely by both 9 and 11?7
Ans X1, 12345

X2 277218

2 3. 181998

« 4. 10098

Question ID : 115135461
Option 1 ID : 1151351842
Option 2 ID : 1151351844
Option 3 ID : 1151351843
Option 4 ID : 1151351841
Status : Answered
Chosen Option : 4
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Q.57 The central board of the Reserve Bank of India can have a maximum of full time
Deputy Governors at any given time.
Ans s 1 4
X2 2
X35
X4 3
Question ID : 1151352317
Option 1 ID : 1151359267
Option 2 ID : 1151359265
Option 3 ID : 1151359268
Option 4 ID : 1151359266
Status : Answered
Chosen Option : 1
Q.58 The Andaman and Nicobar Island group of India is an emergent part of which of the following submerged mountain
range?
Ans X 1. Kunlun Shan
X 2. Eastern Ghats
« 3. Arakan Yoma
X 4. Himalayas
Question ID : 1151352300
Option 1 ID : 1151359199
Option 2 ID : 1151359200
Option 3 ID : 1151359198
Option 4 ID : 1151359197
Status : Answered
Chosen Option : 2
Q.59 20 people can do a piece of work in 12.5 days. After 8 days, 8 workers left. In how many days will the remaining work
be completed?
Ans 1. 7.5
X2 8
K39
X4 6
Question ID : 115135466
Option 1 ID : 1151351862
Option 2 ID : 1151351863
Option 3 ID : 1151351864
Option 4 ID : 1151351861
Status : Answered
Chosen Option : 1




www.prepp.in

pPrepp

Your Personal Exams Guide

Q.60 A sum of money invested at 10% compound interest per annum amounts to 10,164 in 2 years interest compounded
annually. What was the sum invested?

Ans x1. 38,800

x 2. X8,200
X 3. 38,300
« 4 8,400
Question ID : 115135476
Option 1 ID : 1151351904
Option 2 ID : 1151351902
Option 3 ID : 1151351903
Option 4 ID : 1151351901
Status : Answered
Chosen Option : 4
Q61 Which of the following numbers is divisible by 11?7
Ans X1 1120121
X2 1201121
o3 1210121
x4 1210211
Question ID : 115135469
Option 1 ID : 1151351873
Option 2 ID : 1151351875
Option 3 ID : 1151351876
Option 4 ID : 1151351874
Status : Answered
Chosen Option : 3
Q.62 The length and the breadth of a rectangular park are in the ratio 7 : 3. The perimeter of the park is 21000 m. What is the
difference between the length and the breadth of the park?
Ans 1. 4200 m
X2 3675m
X3 3150 m
X4 3400 m
Question ID : 115135458
Option 1 1D : 1151351831
Option 2 ID : 1151351832
Option 3 ID : 1151351830
Option 4 ID : 1151351829
Status : Answered
Chosen Option : 1
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Q.63 Reading the given cluster from left to right, how many consonants are there that are immediately followed by a vowel?
(Left) ATGH@ 7DOGKI7#PE4 1 D&GOH4(@3IKMBUCD (Right)
Ans X1 4
25
X3 3
X406

Question ID : 1151351998
Option 1 ID : 1151357990
Option 2 ID : 1151357991
Option 3 ID : 1151357989
Option 4 ID : 1151357992
Status : Answered
Chosen Option : 2

Q64 Rohtang pass is located in which of the following states?
Ans 1. Arunachal Pradesh

X 2. Uttarakhand

X 3. Sikkim

+ 4. Himachal Pradesh

Question ID : 1151352295
Option 1 ID : 1151359178
Option 2 ID : 1151359179
Option 3 ID : 1151359177
Option 4 ID : 1151359180
Status : Answered
Chosen Option : 4

Q.65 In which of the following continents does the Union Pacific Railroad operate?
Ans 1. South America

+ 2. North America

X 3. Australia

X 4. Asia

Question ID : 1151352305
Option 1 ID : 1151359218
Option 2 ID : 1151359217
Option 3 ID : 1151359219
Option 4 ID : 1151359220
Status : Answered
Chosen Option : 4
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Ans

Q.66 If+means addition, * means subtraction, + means multiplication and — means division, then 30— 10 +4 x 6+4="2
X111
+ 2 10
X3 13
x4 12

Question ID : 1151352013

Option 1 ID : 1151358051
Option 2 ID : 1151358052
Option 3 ID : 1151358049
Option 4 ID : 1151358050
Status : Answered
Chosen Option : 2
Q.67 Two children A and B have some toffees. If A has 8 toffees, and B has one toffee more than 50% of the total
toffees with them, then how many toffees does B have?
Ans « 1. 10
X29
X312
x4 8
Question ID : 115135471
Option 1 ID : 1151351881
Option 2 ID : 1151351882
Option 3 ID : 1151351884
Option 4 ID : 1151351883
Status : Answered
Chosen Option : 1
Q.68 1] . = o
When a = 30", what is the value of sina cosa ©
Ans
x1 V3
3
x2 V3
2
o3 3
4
Xa.=
Question ID : 115135478
Option 1 ID : 1151351909
Option 2 ID : 1151351912
Option 3 ID : 1151351911
Option 4 ID : 1151351910
Status : Answered
Chosen Option : 3
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Q.69 WWhat is the address of the cell in the seventh column of the sixth row in an MS-Excel worksheet?

Chosen Option :

Ans X 1. F6
X2 G7
X3 F7
4 GO
Question ID : 1151352334
Option 1 ID : 1151359333
Option 2 ID : 1151359334
Option 3 ID : 1151359336
Option 4 ID : 1151359335
Status : Answered
Chosen Option : 3
Q.70 Which Article of the Indian Constitution is related with powers, authority and responsibilities of Panchayats?
Ans 1. 243G
X 2. 243F
X 3. 243E
X 4. 243H
Question ID : 1151352310
Option 1 ID : 1151359237
Option 2 ID : 1151359239
Option 3 ID : 1151359240
Option 4 ID : 1151359238
Status : Not Answered

written in that language?

Ans 1. QGDVX
X2 QDDVY
X 3. QGDVW
X 4. QGDUW

Q.71 Ina certain code langnage, ' MANGO' is written as NCQKT', 'APPLE' is written as 'BRSPT, how will PEARS' be

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

1151352023
1151358091
1151358090
1151358089
1151358092

: Answered
Chosen Option :

1
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Q.72 Astudent has exactly eight books A, B, C, D, E, F, G and H, from which he must choose exactly five to be put in a bag.
Any combination is acceptable, provided it meets the following conditions:

* If A is chosen, F cannot be chosen.
* If B is chosen. E must also be chosen.
* If D is chosen, G must also be chosen.

Choose from the given options below, the combination of books which satisfies given three conditions.

Ans 1. B,D,E,F,G
X2 B,C,D,F.G
X3 A,B,D,E.F
X4 A B.C.D,G

Question ID : 1151352024
Option 1 1D : 1151358095
Option 2 ID : 1151358094
Option 3 ID : 1151358093
Option 4 ID : 1151358096
Status : Answered
Chosen Option : 1
Q.73 In a seven-storeyed building, having floors numbered from 1 to 7, A, B, C, D, E, and F each live
on a different floor. The ground floor is numbered floor number 1, the floor above it is floor
number 2 and so on. One of the floors in the building is vacant. B lives on the floor no.6. No floor
below the floor no. 3 is vacant; and no odd numbered floor is vacant. Only B lives between the
floors of A and F. Only one person lives between E and D. Only two people live between C and
F. C lives on one of the floors below F. More than one person lives between D and B. Which of
the following floor numbers is vacant?
Ans s 1 4
X227
X3 6
X4 5
Question ID : 1151352025
Option 1 1D : 1151358099
Option 2 ID : 1151358098
Option 3 ID : 1151358097
Option 4 ID : 1151358100
Status : Answered
Chosen Option : 1
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Q.74 Five friends Amit, Bablu, Chirag, Deepak and Eklavya, each having different occupations Advocate, Boxer, Coach,
Doctor and Engineer, are sitting around a circular table facing the centre.

1. Bablu is a Boxer and Deepak is a Doctor.

2. Amit sits second to the right of Chirag, who is a Coach.

3. The Boxer will never sit immediately next to the Coach.

4. The Doctor and Boxer are immediate neighbours of each other.

Who sits to the immediate right of Chirag?
Ans X 1. Deepak

X 2. Bablu

X 3. Amit

« 4 Eklavva

Question ID
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151352008
1151358032
: 1151358031
: 1151358030
: 1151358029
: Answered
4

Q.75 Which Mauryan emperor led a military campaign to conquer Kalinga, around 260 BCE?
Ans 1. Brihadratha

+ 2. Ashoka

A 3. Bindusara

X 4. Chandragupta Maurya

Question ID : 1151352325

Option 1 ID : 1151359297
Option 2 ID : 1151359300
Option 3 ID : 1151359299
Option 4 ID : 1151359298
Status : Answered
Chosen Option : 2
Q76 The value of
(48 = 72 X 3)-[15 + 8 X (40-32)-10] is:
Ans X4 4
xX23
o3 =3
x4 4
Question ID : 115135449
Option 1 ID : 1151351796
Option 2 ID : 1151351794
Option 3 ID : 1151351793
Option 4 ID : 1151351795
Status : Answered
Chosen Option : 3
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Ans

X 1. 4,400
2 4425
X3 4,510
X 4. 4,450

Q.77 By selling an item for 74,125, A gains 10%. At what price (in ) should he sell the item in order to gain 18%?

Question ID : 115135479
Option 1 ID : 1151351913
Option 2 ID : 1151351914
Option 3 ID : 1151351916
Option 4 ID : 1151351915
Status : Answered
Chosen Option : 2

Ans

kg and that of girls is 44 kg, then what is the average weight (in kg) of all the students in the group?

X 1.48.25
X2 475
X3 49
4 48

Q.78 Out of 60 students in a group, the ratio of the number of boys to that of girls is 2:1. If the average weight of boys is 50

Question ID : 115135453
Option 1 ID : 1151351811
Option 2 ID : 1151351809
Option 3 ID : 1151351812
Option 4 ID : 1151351810
Status : Answered
Chosen Option : 4

Q.79

Ans

Kiran has 24 white beads and Resham has 18 black beads. They want to arrange the beads in such a way that each row
contains equal number of beads and each row must contain either only black beads or only white beads. What is the

greatest number of beads that can be arranged in a raw?
X183
X2 3
3. 0
x4 12

Question ID : 115135460
Option 1 1D : 1151351837
Option 2 ID : 1151351840
Option 3 ID : 1151351838
Option 4 ID : 1151351839
Status : Answered
Chosen Option : 3
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Ans

Q.80 As per the Article 7 of the Constitution of India, any person who has after the

India to the territory now included in Pakistan shall not be deemed to be a citizen of India.

« 1. 1% of March 1947
X 2. 18™ of August 1947
X 3. 19% of July 1947

X 4. 15 of April 1947

migrated from the territory of

Question ID : 1151352306
Option 1 ID : 1151359222
Option 2 ID : 1151359221
Option 3 ID : 1151359223
Option 4 ID : 1151359224
Status : Answered
Chosen Option : 3
Q.81 Travelling at z of her usual speed. Simran covered a distance of 42 km in 35 minutes. What distance (in km) will
Simran cover in 27 minutes if she travels at her usual speed?
Ans X' 1. {4
X2 60
V3. 54
X4 48
Question ID : 115135477
Option 1 ID : 1151351908
Option 2 ID : 1151351907
Option 3 ID : 1151351906
Option 4 ID : 1151351905
Status : Answered
Chosen Option : 3
Q.82 Asum of 214,500 was invested at 9% per annum simple interest for few years. The interest accrued during this period
was 27,830. What was the period of investment?
Ans X 1. 5 years
X 2. 7 years
« 3. 6 years
X 4. 4 years
Question ID : 115135473
Option 11D : 1151351890
Option 2 ID : 1151351892
Option 3 ID : 1151351891
Option 4 ID : 1151351889
Status : Answered
Chosen Option : 3
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Q83 The |6th G-20 Summit was held in

Ans X 1. Paris

Chosen Option :

+ 2. Rome
X 3. Osaka
X 4. Chicago
Question ID : 1151352294
Option 11D : 1151359176
Option 2 ID : 1151359175
Option 3 ID : 1151359173
Option 4 ID : 1151359174
Status : Answered
Chosen Option : 2
Q84 Find the compound interest on 2000 at 10% p.a. for 2 years, compounded annually.
Ans X1 3200
« 2. X420
X3 %520
X< 43400
Question ID : 115135450
Option 1 ID : 1151351797
Option 2 ID : 1151351799
Option 3 ID : 1151351800
Option 4 ID : 1151351798
Status : Answered
Chosen Option : 2
Q.85 Which urban renewal project of India won the UNESCO Asia-Pacific Awards for Cultural Heritage Conservation in
December 20217
Ans 1. Nizamuddin Basti Project
X 2. Qutub Shahi tombs Project
X 3. Sundar Nursery Project
X 4. Jaisalmer Fort Project
Question ID : 1151352286
Option 1 ID : 1151359141
Option 2 ID : 1151359142
Option 3 ID : 1151359143
Option 4 ID : 1151359144
Status : Answered

1
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Ans

X 1. Earning Multiplier
X 2. Fiscal Multiplier

+ 3. Keynesian Multiplier
X 4. Investment Multiplier

Q.86 Which multiplier theory states that the economy will flourish the more the government spends?

Question ID :
Option 11D :

Option 2 ID

1151352316
1151359264

1 1151359261
Option 31D :
Option 4 ID :

Status :

Chosen Option :

1151359263
1151359262
Not Answered

Q87 India won the U19 Asia Cup Cricket, 2021, by defeating
Ans X 1. Afghanistan

+ 2. Sri Lanka

X 3. Bangladesh

X 4. Pakistan
Question ID : 1151352291
Option 1 ID : 1151359163
Option 2 ID : 1151359161
Option 3 ID : 1151359162
Option 4 ID : 1151359164

Status : Answered
Chosen Option : 3
Q.88 1f 20 May 2018 was a Sunday, then what was day it on 26 August 2018?
Ans X 1. Friday

X 2. Thursday

X 3. Saturday

+ 4. Sunday
Question ID : 1151352015
Option 1 ID : 1151358058
Option 2 ID : 1151358057
Option 3 ID : 1151358059
Option 4 ID : 1151358060

Status : Answered
Chosen Option : 4
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Ans

Q.89 If Radha is sitting to the south of Krishna and Rahul is sitting to the east of Krishna, in which direction is Radha sitting

with respect to Rahul?

X 1. North-West
+ 2. South-West
X 3. South-East
X 4. North-East

Question ID : 1151352010
Option 1 1D : 1151358038
Option 2 ID : 1151358039
Option 3 ID : 1151358040
Option 4 ID : 1151358037
Status : Answered
Chosen Option : 2

Q.90

Ans

Four people Shweta, Ranu, Ekagra and Tanmay are seated at the four corners of a square table. Two of them are facing
the centre while two are facing in the direction opposite to the centre. Ranu is seated to the immediate right of both
Tanmay and Shweta. Shweta is sitting to the immediate right of Ekagra. Tanmay is seated to immediate left of Ekagra.
Ekagra is not facing the centre.

Who among the four is not facing the centre?

X 1. Ekagra and Tanmay
X 2. Ekagra and Ranu
« 3. Shweta and Ekagra
X 4. Shweta and Ranu

Question ID : 1151352021
Option 1 ID : 1151358083
Option 2 ID : 1151358084
Option 3 ID : 1151358082
Option 4 ID : 1151358081
Status : Answered
Chosen Option : 3

Q.91

Ans

In a stock of two products A and B initially 80% of the total stock was product A. If 20 kg of product A and 8 kg of
product B were taken out from the stock, then the ratio of the product A to product B in the stock changed to 9 : 2. What
was the total stock (in kg) in the beginning?

X 1. 150 kg
X2 165 kg
X3 220kg
« 4 160 kg

Question ID : 115135470
Option 1 ID : 1151351880
Option 2 ID : 1151351879
Option 3 ID : 1151351877
Option 4 ID : 1151351878
Status : Answered
Chosen Option : 4
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Q.92 select the number from among the given options that can replace the question mark (?) in the following series.

100, 93, 103, 96, 106, 99, ?

Ans X1, 123
« 2 109
X3 127
X4 132
Question ID : 1151352029
Option 1 ID : 1151358115
Option 2 ID : 1151358114
Option 3 ID : 1151358116
Option 4 ID : 1151358113
Status : Answered
Chosen Option : 2
Q.93 Which of the following states has the largest Balance Recoverable Reserves (Onshore) of Crude oil as of 01.04.2019, as
per the Indian Petroleum and Natural Gas Statistics, 2018-19?
Ans 1. Maharashtra
X 2. Gujarat
+ 3. Assam
X 4. Tamil Nadu
Question ID : 1151352299
Option 1 ID : 1151359193
Option 2 ID : 1151359196
Option 3 ID : 1151359194
Option 4 ID : 1151359195
Status : Answered
Chosen Option : 1
Q.94 How many such pairs of letters are there in the word COMFORTS (in both the forward and backward directions) which
have as many letters between them in the word as there are in the English alphabetical order?
Ans x4 1
W2 4
X3 2
X4 6
Question ID : 1151352019
Option 1 ID : 1151358073
Option 2 ID : 1151358076
Option 3 ID : 1151358074
Option 4 ID : 1151358075
Status : Answered
Chosen Option : 2
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Q.95 Which of the following states was the largest producer of iron ore in the country in the year 2019-20 as per the Indian
Minerals Yearbook 20207

Ans 1. Karnataka
+ 2. Odisha
X 3. Chhattisgarh

& 4. Tharkhand

Question ID : 1151352298
Option 1 1D : 1151359192
Option 2 ID : 1151359191
Option 3 ID : 1151359189
Option 4 ID : 1151359190
Status : Answered
Chosen Option : 2

Q.96 Which country successfully test fired Zircon hypersonic cruise missile in November 20217
Ans X 1. China

X 2. Germany

+ 3. Russia

< 4. France

Question ID : 1151352293
Option 1 ID : 1151359172
Option 2 ID : 1151359169
Option 3 ID : 1151359171
Option 4 ID : 1151359170
Status : Answered
Chosen Option : 3

Q.97 Ravish Kumar starts running facing towards the south. He runs for 20 m, then takes a left turn, and then runs for another
30 m. Again, he takes a left turn and runs 70 m. He then finally tumns left and walks 30 m.

‘What is the current position of Ravish with respect to the starting point? (All turns are 90° turns only)

Ans s 1. North, 50 m
X 2. South, 70 m
X 3. West, 20 m
X 4. East, 30 m

Question ID : 1151352011
Option 1 ID : 1151358043
Option 2 ID : 1151358044
Option 3 ID : 1151358042
Option 4 ID : 1151358041
Status : Answered
Chosen Option : 1
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Q.98 Which woman scientist received the Padma Shri, 2022, in the field of Science and Engineering?

Ans 1 Dr. Sanghamitra Bandyopadhyay
X 2. Dr. Lata Desai
X 3. Dr. Najma Akhtar
X 4. Dr. Madhuri Barthwal
Question ID : 1151352289
Option 1 ID : 1151359153
Option 2 ID : 1151359156
Option 3 ID : 1151359154
Option 4 ID : 1151359155
Status : Not Answered
Chosen Option : --
Q.99 In a certain code language, BUT is written as DWV and LOW is written as NQY. How will CUP be written in that
language?
Ans X 1. RWE
« 2. EWR
X 3. UCP
X 4. PUC
Question ID : 1151352012
Option 1 ID : 1151358048
Option 2 ID : 1151358047
Option 3 ID : 1151358046
Option 4 ID : 1151358045
Status : Answered
Chosen Option : 2
Q.100 Who among the following was Governor of both Andhra Pradesh and Telangana in June 20197
Ans X' 1. ND Tiwari
X 2. Biswabhusan Harichandan
X 3. Chandulal Madhavlal Trivedi
+ 4 ESL Narasimhan
Question ID : 1151352307
Option 1 ID : 1151359228
Option 2 ID : 1151359226
Option 3 ID : 1151359227
Option 4 ID : 1151359225
Status : Answered
Chosen Option : 4
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Q.101 Which of following biomes is known for its coniferous (cone-bearing evergreen) forests?

Ans 1. Boreal forest

X 2. Tropical rain-forest
X 3. Chaparral forest

# 4. Savanna forest

Question ID : 1151352319
Option 1 ID : 1151359273
Option 2 ID : 1151359274
Option 3 ID : 1151359275
Option 4 ID : 1151359276
Status : Answered
Chosen Option : 2

Q.102 Pipes A and B can fill a tank in 30 hours and 45 hours, respectively while pipe C alone can empty the full tank in 20
hours. When the tank is full, C alone is opened for 8 hours and then closed and pipes A and B are opened together at
the same time. Now, how much time will pipes A and B together take to fill the tank completely?

Ans X 1. 7.5 hours
X 2. 8 hours
X 3. 7.8 hours
« 4 7.2 hours

Question ID : 115135451
Option 1 ID : 1151351802
Option 2 ID : 1151351804
Option 3 ID : 1151351803
Option 4 ID : 1151351801
Status : Answered
Chosen Option : 4

Q.103 Rajesh needs to buy some cardboard to build a box that is 12 inches long, 8 inches wide, and 10 inches high. How much
cardboard is needed to build the box?

Ans X 1. 350 sq inches
« 2. 592 sq inches
X 3. 960 sq inches
X 4. 400 sq inches

Question ID : 115135464
Option 1 ID : 1151351856
Option 2 ID : 1151351854
Option 3 ID : 1151351853
Option 4 ID : 1151351855
Status : Answered
Chosen Option : 2
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Q.104 The average score in Mathematics of a class of 36 students is 60. If the top two scores are excluded, the average goes
down by 2. If the second highest score of the class is 90, find the highest score of the class.

Ans X 1. 06
X2 99
« 3. 08
K495
Question ID : 115135463
Option 1 ID : 1151351849
Option 2 ID : 1151351851
Option 3 ID : 1151351850
Option 4 ID : 1151351852
Status : Answered
Chosen Option : 3
Q.105 Which among of the following languages, is not a part of Eighth Schedule of Indian Constitution? (As of March 2022)
Ans X 1. Tamil
X 2. Bodo
X 3. Punjabi
« 4. Rajasthani
Question ID : 1151352304
Option 1 ID : 1151359214
Option 2 ID : 1151359213
Option 3 ID : 1151359215
Option 4 ID : 1151359216
Status : Not Answered
Chosen Option : --
Q.106 Who amongst the following has the Constitutional authority to conduct the audit of the financial transactions of the
union and state governments and union territories?
Ans X 1. The State Public Service Commission
X 2. The Attorney General of India
# 3. The Finance Commission
+ 4. The Comptroller and Auditor General
Question ID : 1151352309
Option 1 ID : 1151359236
Option 2 ID : 1151359233
Option 3 ID : 1151359235
Option 4 ID : 1151359234
Status : Answered
Chosen Option : 4




www.prepp.in rrepp

Your Personal Exams Guide

Q.107 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commeonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
All rocks are bangles.
No bangle is ring.
Some rings are chains.
Conclusions:
I, Some bangles are rocks.

II.  Some chains are bangles.

Ans X' 1. Both conclusions I and II follow

+ 2. Only conclusions I follows

X 3. Neither conclusion I nor II follows

X 4. Only conclusions II follows
Question ID : 1151352022
Option 11D : 1151358087
Option 2 ID : 1151358085
Option 3 ID : 1151358088
Option 4 ID : 1151358086

Status : Answered
Chosen Option : 2
Q.108 In August 2021. Neeraj Chopra won the gold medal at Tokyo Olympics in the event.

Ans 1. Javelin throw
X 2. Badminton
X 3. Shooting

X 4. Fencing

Question ID : 1151352292
Option 1 ID : 1151359166
Option 2 ID : 1151359167
Option 3 ID : 1151359168
Option 4 ID : 1151359165
Status : Answered
Chosen Option : 1

Q109 Bop-geet (forest/nature song), is primarily a form of folk song of
Ans X 1. Meghalaya

X 2. Himachal Pradesh

X 3. Manipur

« 4. Assam

Question ID : 1151352332
Option 1 ID : 1151359326
Option 2 ID : 1151359325
Option 3 ID : 1151359327
Option 4 ID : 1151359328
Status : Answered
Chosen Option : 1
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Q.110 In AABC, DEIBC, intersecting AB at D and AC at E. AD : BD :: 2 : 3 and the area of trapezium BDEC is 63 cm?. What
is the area of AADE?

Ans X114 em?

¢ 2 12 cm?
" ¥
X3 28 cm®
" *
X4 42 cm?
Question ID : 115135475
Option 1 ID : 1151351900
Option 2 ID : 1151351897
Option 3 ID : 1151351899
Option 4 ID : 1151351898
Status : Answered
Chosen Option : 3
Q.111 Ina certain code language, ‘BLISS’ is coded as *‘MAITR’ and ‘JAPAN’ is coded as ‘BIPOZ’. How will ‘GLOBE’ be
coded in that language?
Ans X' 1. MFOCD
« 2. MFOFA
X 3. MFOEA
X 4. MFACD
Question ID : 1151352020
Option 1 ID : 1151358077
Option 2 ID : 1151358079
Option 3 ID : 1151358078
Option 4 ID : 1151358080
Status : Answered
Chosen Option : 1
Q.112 Pointing at a picture, Yuvika said that the boy in the picture is the son of her father’s mother’s daughter. How is that boy
related to Yuvika?
Ans X' 1. Brother
X 2. Mother’s brother’s son
+ 3. Father’s sister’s son
X 4. Father’ brother
Question ID : 1151352006
Option 1 ID : 1151358021
Option 2 ID : 1151358024
Option 3 ID : 1151358022
Option 4 ID : 1151358023
Status : Answered
Chosen Option : 1
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Q113 \faasai people are the natives of which of the following continents?

Ans X 1. Europe
X 2. Australia
X 3. South America
4 Africa
Question ID : 1151352302
Option 1 ID : 1151359208
Option 2 ID : 1151359206
Option 3 ID : 1151359207
Option 4 ID : 1151359205
Status : Not Answered
Chosen Option : --
Q.114 Ahemispherical bowl of internal radius 24 cm is full of liquid. This liquid is to be filled in cylindrical bottles, each of
internal radius 6 cm and height 8 cm. How many bottles are required to empty the bowl?
Ans X 1. 35
<2 30
X3 36
W4 32
Question ID : 115135446
Option 1 ID : 1151351783
Option 2 ID : 1151351781
Option 3 ID : 1151351784
Option 4 ID : 1151351782
Status : Answered
Chosen Option : 4
Q.115 Which of the following branches of language does NOT belong to the Indo-European family of languages?
Ans X 1. Ttalic
X 2. Celtic
X 3. Germanic
« 4. Finno-Ugric
Question ID : 1151352303
Option 1 ID : 1151359211
Option 2 ID : 1151359212
Option 3 ID : 1151359210
Option 4 ID : 1151359209
Status : Answered
Chosen Option : 4
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Q.116 Read the given information carefully and answer the question the follows.

Ganesh, Raju, Rohit, Isha, Janak, Preeti, Chandan and Madhur are eight employees who are sitting for a discussion
around a circular table, facing its centre. Their professions are Pilot, Doctor, Publisher, Engineer, General Manager,
Union Leader, Researcher and Dean, but not necessarily in the same order. Raju is sitting second to the left of Preeti.
The Dean is to the immediate left of Preeti. Only three people are there between the Dean and Ganesh. There is only
one person sitting between the Engineer and Ganesh. The Publisher is sitting to the immediate right of the Engineer.
Madhur is sitting second to the right of Preeti. Isha is the Dean. Rohit and Janak are immediate neighbours of each
other. Neither Rohit nor Janak is the Engineer. The General Manager is sitting to the immediate left of Raju. The Union
Leader is sitting second to the right of the Publisher. The Researcher is an immediate neighbour of the Engineer. Rohit
is sitting second to the right of the Pilot.

“What is the position of Chandan with respect to the Dean?

Ans 1. Second to the right

X 2. Third to the left
X 3. Third to the right

X 4. Second to the left

Question ID : 1151352014
Option 1 1D : 1151358054
Option 2 ID : 1151358053
Option 3 ID : 1151358056
Option 4 ID : 1151358055
Status : Answered
Chosen Option : 1
Q117 11 a class Anu ranked 15 from the bottom and 14™ from the top. How many students are there in the class?
Ans (1. 29
X2 27
<3 30
W4 28
Question ID : 1151352018
Option 11D : 1151358071
Option 2 ID : 1151358069
Option 3 ID : 1151358072
Option 4 ID : 1151358070
Status : Answered
Chosen Option : 4
QM8 wiklang Shraddha ka Daur' is the work of which noted writer?
Ans X 1. Khushwant Singh
+ 2. Hari Shankar Parsai
X 3. Atal Bihari Vajpayee
X 4. RK. Naravan
Question ID : 1151352333
Option 11D : 1151359332
Option 2 ID : 1151359329
Option 3 ID : 1151359330
Option 4 ID : 1151359331
Status : Not Answered
Chosen Option : --
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Q19 Al of the following plants have fibrous roots EXCEPT

Ans 7 1. Beetroot

X 2. Maize
X 3. Rice
X 4. Wheat
Question ID : 1151352321
Option 1 ID : 1151359282
Option 2 ID : 1151359281
Option 3 ID : 1151359283
Option 4 ID : 1151359284
Status : Answered
Chosen Option : 1
Q.120 The following pie chart shows the expenditure distribution of a college festival. The blue part represents production
expenditure, the green part represents lights and music system expenses, the red part represents advertisement expenses
and the orange part represents food expenses. Study the pie chart and answer the following question.
Approximately, how much is spent on food and advertisement together if the total expenditure was 363,070?
Ans
X 1220000
2. 325,000
3. 235000
X 4.%30000
Question ID : 1151352030
Option 11D : 1151358118
Option 2 ID : 1151358120
Option 3 ID : 1151358117
Option 4 ID : 1151358119
Status : Answered
Chosen Option : 2




